03

Teren istniejacy

- a a
g m © ©
. 2 15 % g
£ = Q S\
s | §
- 3 B @
=S 2
s B
222z 8 : =
S5 < O
seE 5| B o3 2
N S W = = .8 =~
28 2| § ] 2
s a5 ) g3 B . o) \
Ez="g| = B 8 |8 & !
SO+ 5 = 23 = | 5 = !
NN SR S 5 2 | = Q !
s@oE & ¥ 2 1Bl Q “
o ) z % = =3 i
S g B 59 S ~ i
O E's & =)
g5 3 iz &
202% § | 3%
S = — 4
S2-8 2 2 3 4
4=~ = = e 3] N
N X ~ o0 = 7] < L
T8 & S 5 S
EX£vl gl < S
L2 58 £ 2 |g| & 2
£~ g8 R E R e Z
A . — 172} .w <
Z . g |5 |E £ :
s 2 g g = =
= 5 |2 e
o =3 s e
= (=3 <
2 8 =2 g z
g S = 8
> S R Q
=] Q <
€5 S ) &
— =%}
<
o
o
Ip] ]
o —BE85— —&T89 £6'6 grec——@—
= | o289 t sr89 1 ¥00 A 0006 1
P b v2'89 + LU'89 1 L00 A 0008
3
L 8289 | 2289 + 900 veeL
L oe'g9 + ¥2'89 1 900 A 000, 1
SSES : : y S '
L8882 , - EvB9 1 €€BS T 010 | S§ 0009 1
2834 —— | 689 { se89 1 #10 | 81 SL9S
-_" o
agha o~
b 9989 + ¥c'89 1 2T0 A 0005 1
( 66'89 X ve'89 | 00 Loy |
6689 | ce'89 T +00 \,oﬁ,af 00'0%
A
~ Y \o_
= b 6269 T 9269 1 200 2 0EE 1
3\ L Le'69 1 ce69 + 200 - 00'0€
L 8969 + 6569 + 600 0002
£E_E £
- Sg
Quead b o869 L 869 } 800 || SN 911 |
2¥gof F 6869 T 2869 T L00 1 om 0001 |
Jeta @ =
?
11}
 66'69 1 1669 1 800 - o000 —@
uioos=za_|
" =W
Beveere=t L oooL | 1869 | 610 €016 |
F oooL T 0869 T 020 1 0006
L L6'69 1 6965 1 820 A 0008
b v6'69 + 1969 + 260 A 000, 1
 06'69 + ¥S69 + 9E0 A 0009 1
I 1869 1 0L'%69 1 LTO A 0005 1
l v8'69 + vs65 1 o010 000y 4
L 1869 t ££69 1 ¥00 A 000E 1
b L2569 1 08'%€9 1 €0'0- A 0002 1
b v69 + ¥8%69 1 O0- A 0001
£ 8
|3 o
1269 1 6£695 1 800- A = m o000 T—@
L 89'%69 + £9%65 1 100 0006
5
n
L v969 1 €969 1 W00 { & 0008 1
X W
& -
Y
b 1969 + €9%69 1 200- A 000, 1
L 8569 + £9%69 1 600~ A 0009 1
I cS'69 + €£69 1 8T0- A 0005 1
1969 + 69 1 610- A 000y
L 8¥'69 + ¥9%69 1 STO- A 000€
I c¥'69 t €969 1+ 80'0- A 0002 1
L 2v'69 + S¥'6S 1 ¥0'0- A 0007
8
5
1]
| 8e'69 1 C£69 1 +00 - o000 —@
I s€69 + S269 + 010 0006
L 2c'69 + 2265 + o010 A 0008
o ) 6269 | 6169 | g00 | 000z |
w K g2e9 | ereo T 010 ¥5'89 1
I vE'69 + ST'69 1 610 0009 1
L ove9 + oce9 1 o010 0005 4
b Lv'69 + W69 1 900 A 000y 1
b vS'69 + S¥'69 1 600 A 00'0€
3
o
b 0969 + 6¥'65 + 0 A 0002 1
b 1969 1 8565 1 600 0001
3
2
o
€169 1 6969 1 S00 - o000 —@
L eLe9 | €169 | 900 > 0606 |
, Foseo T v269 T 900 1 SEg [ 0006 |
I mmm
P-y.__“_u
~
I 1669 1 28%69 1 800 3%~ | o008 -
.mum £ £ Se
9883 =N
wmmmm P 200 1 1669 1 MO { 8¢ oL2L
Oa-7 l ooz + c669 + €0 { T 000s 4
dJg V| ¥
b 2e0L + 610L 1 ETO A 0009 1
b cvoL t egoL 1 ¥TO €9YS
b 190L + ovoL 1 91O A 0005 1
b 260L + €L0L 1 610 A 000y
b e212 + vOIL 1 610 A 0008 1
£
clia
S0
g(R
b ¥S1L + 9L 1 810 A &+ o002 -
N
8
(v}
b e81Z + 991L 1 810 A 0001
(=]
(=1
S
b sres t L67L 1 8TO - 0000 —@
b ov'2L + 622, + 810 A 0006
,, b €92, t 8v'eL + LT 18'€8 1
booses + 9L 1 910 A 0008
s55ch b gL + ve'eL + 800 1| S 000, A
o3SE8 83
Qg™ | y 1 ’ | n || 22 9 |
Ygss oTeL | 9oL £0'0 g1 68'G9
T w
iy = o
e A L oZEL + evEL 1 L00 A 0009 1
| . .
, b oteesc b oozes | g | 0005 1
K eees T e2eL ] o 96'LYy A
L seeL + 82€L + WO A 000y
b ov'eL + c2eL + 020 A 0008
 2s€L + 22EL + o0E0 A 0002
£|5
K
b 6S'€L + 02EL 1 6E0 A & 0001 -
[=3
o
S
b 99€L + o2EL 1 90 A o000 1—@®
b eLeL + ¥EEL 1 6E0 A 0006
L ecec + vveL 1 9g0 0008 4
I 98'€L + 2S€L 1 ¥EO A 000, 1
b ee'eL + 19EL 1 2€0 A 0009
b o0vL + 2L€L + 820 A 0005
b covL + ve'EL 1 €20 A 000y
b ¥IvL + 98%€L + 820 A 00'0€
b Tevs + wvL 1 020 A 0002
Elx
8L T vO¥L T ¥20 | Z|& 0007
S|
g i g
g == x
e b vevs 1+ L0vL 1 L20 A =5 o000 —@
8|8
Kl
)
b wvL + €Y. 1 600 A 0006
b 8¥'vL + 9€VL 1 210 A 0008
b oSy + 2€EVL + €20 A 000, 1
b 29y + 8eVL T ¥20 A 0009 1
b 69'%L + 9€¥L 1 2€0 A 0005
b osve + LvvL 1 820 A 000y
L €8y + EVYL T 6E0 A 000€
L 68'%L + S¥YL T bHO A 0002 1
b 96y + SS¥L 1 WO A 0007
1
S
b eosL 1 LvL 1 L20 A 0000 —@
b oorse + LevL 1 ETO A 0006
b oLres + 2062 1 STO A 0008
bk ¥S'SL L SOSL 1 ¢gpo 000,
K g2az T osogz T 020 c8'/9 A
5.k wezes=zy b 626 + 60GL + 020 A e, 0009 1
o w S58 $C'LEC+T=W 8 3
.0.0.4" | " 1 " i " ] o " ]
wﬂmo._.. gzcs | orse 810 Mﬁ 89'cg
Gz A bezse 1 oorsz 1 o210 {| B4 0005 1
|
| b 6VSL | O1SL | 600 | 000t |
N ercz N eocz | 600 1cee |
b cosL + sevL 1 oTO A 0008
b sev. + vevL + o010 A 0002 1
B3
] b es'vs. + 89%L T 1O A 0001
- 8
S
b 1LvL oSyl 1 020 A 0000 —@
| 6SVL | 9€vL | €20 | 806 |
f esvz | 9eveL 220 0006
£S5 £
8858 Loocve Looeve L oy | SS 0008 |
RRIBE ero { S 1§LL
SH3Sq FoevvL T 9EVL T 1 8 1
QzFa ugh'yL=2y_| o)
" +[=W;
Sy2Ly+= b ev'v. + sevL + ETO A 00'0L 1
£
L ogve + 9gvL 1 #T0 Z|8 | ecvo |
gl
L €Sy + 8€¥L 1 STO A ZIO L 0009 A
]
L 8svs + 2vvL + 91O A 0005 1
b €E9VL + 0SYL 1 ¥TO A 000y
.=3“ b 69%L + 29%L + 100 A 0008 1
S
b vive + ooLvL 1 w00 o 0002 1
b 6Ly + vLYL 1 00 A 0007
S
<+
L es8vL + LLYL + 900 voeo { A&
L v8v. 1 8LvL 1 900 - o000 —@
uSg'y /=2y
TI'S6E+T=U) |
£5ch . . . E e .
BEs8 P Y8YL T vLvL o010 1] 85 0006 1
Nug8Q L egvs + orvz 4 210 | 3 o |
wumm« e8vL | OLVL 210 gy 1298
- -
ag¥a P
b Love + 29%L 1 STO A 0008
|
,, y eove | 1evL o vTo | 60L |
N vovs | 18592 €70 00'0L
b 8vvL + vEYL 1 ¥TO A 0009 1
b TEYL + 22%L 1 600 A 0005
b sivz + orvL T 200- A 000y
b
;]
I 86'€L T S6'€L T €00 A 00'0€
L agesc + s1eL 1 so0 0002 4
b coeL + €ceL + 210 A 0001
L 0L | evEL + LTO €890 { 8
,, z
£s &5 PIseL fo0EeL T TR0 | e o000 —@
2s0T <
mmmmm - 8vEL 1 ogeL ¢ 810 | 8a 6556
-TFa Wop'E /=2 ._._.m_
2 mm.wwmﬂuzml L oves 1 aeec + sto { 0006
L 8¥YEL T YEEL T ¥TO cEYS
b 1s€L + 9gE€L + STO A 0008
b L€ + O¥EL T LTO A 000, 1
L €9€L + ¥vEL T 610 A 0009 1
3 z
s b 69EL t BVEL 1 120 A =
N2«
28¢
el
b scec + vSEL 1 020 A B 000y
y 18%€L ¥ 99'€L ¥ STO | 000€ |
N 1ees N z9es 10 I¥'ée
upg'e/=2y
0b'022+T=u "'} P ¥8'€L T LLEL T 900 00'02
£S5 £ £
HEEQ mm
Q ﬁmmm./. L 182 L 69eL L 210 || S8R (34108
waﬁ_n._.. F 08€EL T 89EL T ET0 ] %ﬂ. 0001 1
|_|V Jdg a - =]
L))
+
4
@ b oreL t cc'€L 1 STO A 0000 1T—@
J— \ £
| <™
IAR]
e b 09EL | 9VEL T ¥TO m 5 | 8SE6 |
W L €S'EL + O¥'EL T ETO A ol | o006 A
N b og'es + 12EL 1 STO A 0008
L ereL + WEL T LTO A 000, 1
mlunl
~
b ooes + 6L2L + 120 A 0009 1
| 282, t LseL 1 S20 A 0005 1
bweL 1 9veL + v20 E9EY
, b vo'2L + eveL + €20 A 000y
£ E
R _ _ . | 88 _
58T ( es2L i g2, y €20 | S9 220€ |
=8B= 2geL | e22L | €20 0 00'0€
agh A a2
b v2L + ereL 1 €0 A 0002 1
u/y'aL=Zy L svar L sras | . o1 -
SO 2L + LraL 620 1891
£
L 2z + 922 1 120 | i o1 A
2L 1 922L 1 120 s 000t
=14
4 8
7
b tvar 1 s€2L 1 600 - o000 —@
b 2 + seeL 1+ 0 A 0006
M
3
b 2L + 622L 1 810 A 0008
b 2 + o22L + L20 A 00'0L 1
e L vae | ozac 1 czo voze |
b oveL + ogeL + 920 A 0009 1
.mm e ; )
3mmmm b WwesL y 022l L 120 | 0005 |
>8Es5 Foover T oozec T 020 ] cesp ]
Igha
b 622 + 2reL + 8ro A 000y
b eres t oL 1 STO 80'¥E 1
boeres + oo 1 2T0 A 00'0€ 1
L €612 + ¥81L 1 800 A 0002 1
b sz + 29 1 2To A 0001
g8
P £
E £/ :
g » "y b= g
b ve12 1+ ¥EL 1 020 - mm o000 —@
b sz + 9L 1 610 A 0006
, L €212 + c0L + 80 8y'es
| b otz 1 es0L 1 8TO - 0008
b o0, + 2602 + STO A 000, 1
£E ¢ weQ'TL=2 £
g28sm HHOE+0=U _ . . . S& .
Yedy® | o0TL | oe0s o0 | g% ¥909 |
>@8su Mootz § osoz T oro | S¥ 0009 ]|
Il_m_nm a2
boeriz + 00TL 91O A 0005 1
| b sewz ko L ogrp 000y
Kk oz T ez T 810 08'LE 1
b 191, + 9eL 1 s20 A 0008 1
N L 881 + 89TL 1 610 A 0002 1
I
L oereL L 661L | +T0 69'01 |
[ F vraz T oaz T ero | o001 ]
| g
3
mmam Fsees 1 ogeL 1 s00 |/ g £ 0000 —@
~“9Sa Q
SR b aves + o2 1 210 mm Z|§ | evse
A=A T 171
5 - = ] =1
Jg—a L ovas + oL + 9T0 {| ¥ Z|F | 0006 |
)
ugy'2s=2y_|
Y0'y88+0=\) ) )
p LveL ¥ 0€2L AL 0008 |
N vz b oeez LT0 8¥'6L
b ev'eL + €2eL + 020 A 000, 1
l ss22 + oraz 1 620 0009 4
b ve'2L + 66TL 1 SEO A 0005 1
b 622L + ¥61L 1 SEO A 000y
b c22L + 061L 1 SEO A 000E
b ozaL + 061L + 0E0 A 0002
Loz + 981L 1 620 A 0001
8
2
o
b wwes 1 eLL 1 20 A oooo —@B
b 9oaL + 081L 1 920 A 0006
b 202, + o081, 1 220 A 0008 1
b o612 1 081 1 LTO A 000, 1
B
el T eTL T o200 { @ > 0009 1
3% | B85
N 1] NER
$ 2| | E8g
° L 881, + 86TL T OT0- A xdW|} ovos |
ad
b ¥812 + Se1L T ero- A 000y
b 6L, + SeTL T+ oT0- A 00'0€
b v+ 08TL T+ oT0- A 0002 1
booswe + 281 Ero- o 0007
8
N
o
b ooz 1 ¥L1L 1 800- - o000 —@
FI9TL + L9 1 L00- A 0006
b og1L + 2974 1 90'0- A 0008
b eg1, + IsTL 1 100 A 000, 1
bz + w1 900 A 0009 1
b ey, + 2€L 1 o010 A 0005
L 8e1L + 821L 1 010 A 000y
, V>4 VAR VL4 VAR ) 1 €8'9€
£
£ESc e | Ee
oBSE8 ueeT/=2d_ p ez poven ) owo | SR 000€ |
Sn83R 00°0€9+0=4 Feeww F oy T wo | B2 S062 |
S Fa& , o
& ,
b se1z L 1212 L 4T0 9212 |
FeetL T o212 T 810 | 0002
b ovpz + 2eL 1 210 A 0001
8
¥
o o
8 b osL + ¥PIL 1 900 A o000 —@
o
k 9ST1L Lt 8¥TL L goo 0006
K /4812 T b2 T 010 L¥'L(8 A
cE £ WeGTL=2Y .
28582 S9'18C+0=u) L 6s1L T WL T ST {[ £ 0008 1
00 l scry 1 241, | 0 |l 22 oy |
5ugss 8S1L 1+ 2L STO ga y9o'9L
Jgta &
b ec1L + 8eL 1 410 A e | oooL -
\ < |0
b sv1z + 0212 | £20 mw 1859
&|&
afn
b e + 960L 1 2v0 A - | 0009 A
b o801+ vTO A 0005 1
b sot. + €01 1 200 A 00'0%
L os0z + 96'0L + 900~ A 0008
M
n
b vLoL + T60L 1 LTO- A 0002 1
b scoL + 190L 1 £0'0- A 0001
=]
kY
o
b 2voL + 1€0L 1 O A 0000 1T—@®
I L 2e0L | eroz + €10 2ree
b zeoL + 8rOL 1 600 A 0006
£
£S5 ¢ £ £
smmmm b otos  eroz | ggp mm 0008 4
= s . 4 . 4 ' 4 - ! 4
>Fgoy Fooror T oaros [ 200 g 89'LL
JgFa @
Eﬂd.ONHNN_l L g 1 . i " i ’ J
P vy €T0L 1 600L ¥0'0 00'0L
,
b orosz 4 900L ;600 v619 |
FooToL T 900L T 0T 1 0009 1
b 12os + 900L + STO A 0005 1
b 920, + 800L 1 8TO A 000y
< £
boieos + v00L 1 L20 A 2|8  oooe |
ol
[t
N b ogoL 1 o000z 1 9E0 - 0002 1
D
o
b oL + L00L 1 SEO A 0007
8
3
o
b ¢voL 1 Stoz 1 0E0 - o000 {—@
b 2coL + og0L 1 91O A 0006 1
b ssoL + vvoL 1 100 €9€8
£E L 8c0L + SvOL 1 ETO A 0008
efs 25
wmmmu [ L90L f 0L 1 STO | 8 T
- = i
JetA botgos 1 oosoL + @O { % 00'0L A
L €60L | 6L0L 1 ETO 9999
>
5&s
b oer. + 201 + 910 A 23|} ooos |
al®
UR
N
L 8c1L + SETL 1 €20 A 0005
b 612 + €914 1 ¥EOD A 000y
b 9g2L + oreL + 920 A 00'0€ 1
u./..
')
o5
b sc2c + os2L + c20 A 0002
b viEL + 62L 1 €20 A 0007
8
(]
<|& S
 ec'e 1 €€€L T 020 - m 2 0000 —@
o £
= L 18'€L | 89%€L + 2T0 €06
L 88'€L + 8L€L + OT0 0006
b ervs + sovs 1 800 A 0008 1
b 8SvL + ¥¥YL T 900- A 000, 1
>
_Wn GEE
aj b eovs 1 covL + 800 - mmm 0009 1
D.03
oo
wRL
L 88vL t L6€L T 160 A 0005 1
Ip] m €rss m S0vL | 80t 00'0% |
= £rss 80'vL 901 eB'6e
b voc. + €s6L + WO A 000€
£
=19
AR
218
b oros + e6'sL + 91O A [+ o002 -
W./u.
[}
b £99. + 2c'9L 1 STO A 0007
(=]
(=]
L))
&
ez + ¥rLL 1 S00 A . 0000 T—@
=
L 8€'LL  SELL T €00 55§ [ s196 -
83w
b v9'LL + 99LL 1 200- A oo | ovoe |
5Sco £e [13%-
R8§o se [\3
+=gQn . . § P== .
D= L oL  esuL 1 o800- || Sa L8V8
te T ug/LL=2Y Qn
JdeFa 21'08T+0=W) I 8L'LL 1 6L'LL 1+ T00- )\ @ 00'08
. . £
- y 8L b evis | oo m 6 1 sea |
- [ 1oL WL g TR0 gale €L A
) 09LL | oovie 120 ally 00'0L
n
wrg /=23
£ 9C'291+0=u)
mmmm e e 1 oET0 | 55 0009 1
S 2 <
wmmnm _ LSt e€LL o810 | 8N 9¢'9¢
aeFa 2l
bttt otvee +oogo A 0005 1
L orgs t w08L 1 STO veer
I se'BL + STBL 1 020 A S 000y
=
mn.o.
nm
A
L 1wes + ce8 1 w00 XL oogog -
N
-y . . . .
& b 996 + ¥96L 1 €00 A 0002 1
L 2c08 + €208 1 010 0007
L 6c08 + 08 + 6T0 egco { S
/ 3
2608 1+ 2208 1 020 - o000 —@
<&
Bl
£ E £ |\
hS Eq ) . £ £ 2|
w2828 y e y 018 | eoo- f( §& | &L | o006 |
208s% wp218=23 N ezie T oete T €V0- || 88 06'88 |
G A L1'980+0=w))
L oers + 118 1 100 A 0008
L 0608 + ¥L08 + 910 5 067L |
// 1808 T p908 T L1014 00'0L 1
)
A\ L 0908 | 6c08 + 020 S Sr'eo
& m £ E _Lh Ec
-S5E8 g 6€08 y 0208 L 610 | §3 0005 |
wm.mn.a A K veos8 T orog T 810 1 m._._u 8v'sS 1
LSgFa a3 -
L 9208 | ¥008 } =220 Ssg | 1818 |
N F c208 T <008 T 120 NER [ oo0¢ 1
§ s aui
> ﬂ.)l WRL
¥ J 3
3 b ¥208 + 1108 T 10 A 000y
N 2
5SS | €208 + 8€08 T STO- A 000 -
m 33
el
&% s g L 2208 + 1€08 1 600- A 0002 -
AN
.m ww
RN I 1208 + 8¥'08 T L20- { . 0001
8L P 3 =]
4|s 8
BT 2
SHES o i I i I i B i i S i B A I e 06 6606 &—
0 Q0 Qo 0 9 Qo o Qa0 o0 o 90
T 0O 9 S O ONUYUINDT O S 0 ON O
0 0w ®oWP®ONNNNNNNNDENO O OO
S o | £ | 2
2zls|e|8
I - R
w Q=13 2 ©
Zl 2 z N c = e ‘N
m c = = > > N7 ©
) -— -— [
0} 0} bs] c c Qo ©
= C C e Q Q [e))
g o ° c = = o e
N (08 ‘N o o = (o]
ol N N O 2 L ° =
ol | o | [wluw|O | X




